THE PREP SCHOOL

MODEL PAPER of ENGLISH for ADMISSION to GRADE: 2
(Max. Marks: 20)

Q.1 (A) Encircle the Correct Spellings. (0.5x2)
m wistle / whisle / whistle / vistlle
u cirkle / circle / sirkle / cirgle
(B) Provide Meanings either in English or in Urdu. (0.5x4)
u nice I simple
L drink L children
(C) Complete the Number and Gender Columns. (0.5x6)
Singular Plural Masculine Feminine
sheep aunt
men nephew
house grandmother
Q.2 Complete each Sentence by Choosing the Correct Word. (1.0x5)
- The boy a red toy. (is / has / have)
L Birds are in the sky. (flying/ flies / fly)
u Where she live? (has / do / does)
- There is elephant in the zoo. (a/ an)
- My book is the table. (over /in / on)
Q.3 Encircle the Part of Speech of the Underlined Word. (1.0x3)
- I have a brown chair. (Noun / Verb / Adjective)
- She is my sister. (Noun / Verb / Adjective)
- We play hockey. (Noun / Verb / Adjective)
Q.4 Do as Directed. (1.0%3)
- The cows were eating grass. (Change into a Negative Sentence)

L The student is reading a story.  (Change into an Interrogative Sentence)

L computer/ A/ is/ machine/ a (Arrange into a Sentence)

( Sentence Construction |

Q.5 Make Meaningful Sentences of the given Words.
I laugh:
L clothes:

n angry:

(1.0 x3)



THE PREP SCHOOL

MODEL PAPER of MATHEMATICS for ADMISSION to GRADE: 2

[ Objective ]

(Max. Marks: 20)

Q1. Fill in the blanks. (1.0x4)
= 125 can be expressed in words as
* 1hour= minutes.
= 24 less than 51 =
* Three quarters means 3 parts out of equal parts.
[ Computational Strategies ]
Q2. Solve the following. (2.0 x2)
°
(i) 468 (ii) 789
+ 391 -698
Q3. Solve the following. ® (1.0 x4)
() 12 * (ii) 7
x 5 x 2
(i) 32+4= o (iv) 18+3=__

[ Problem Solving Skills ]

Q4. In a school, there are 257 boys and 138 girls. What is the total number of children in

the school?

(Show complete working) 4.0)

QS. Zain had 232 balls. He lost 119 while playing with his friends. How many balls does he

have now?

(Show complete working) 4.0)



THE PREP SCHOOL

Model Paper Max. Marks :10  ADMISSION to GRADE: 2
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